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,. Unitrl
Atr.swer @ll tfielve questinns.

1. Equation of the X-axis is 

-..
; 2. ,-interrupt of the line 3 t + y = 11 ii 

-.

\-
3. If f (r) = 3 r + 2 aad g (n) = t - I then /- g (t) is 

-.
4. One solution of a2 - 5" = 6 i5 

-
6. f (x\=2rs - 4i.2 +7t-10 then /(1) is _................-

-. zxz -3xo' 
'1.6s2 -12

't
7. Domain of the firn* on 1t,t=;i.

,f-
8. y=P +n +l tbe fi atx= tis-'

9. value of ln eG is ----:-.
?2u

10. If y = 6l ; then - is 

-.

.E'

r!. tf z=J yr rll theo; is-.

12. value of t+at i"-
(12x%=Sweightage)

Turn over
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Udt II
Atrswer al) tiae qucstinra,

13. Solve afuebraically 6,.+2!=16
-4x + x =-6'

14. An autior.ec€ives a fee ofRs, 25,000 plus Rs. lb for every book sold. Eypress his revenues R ae afuuction ofthe uumber of books r sold.

16. Evaluata Lt '- -".r+3 t-3

16. F,Dd # r y=(zzs +z*)5.

l?, Deterroine wheth"" y = (2r3 + Z)5 is increasing or decreasing at, = - l.

'|

18. Sihplig' y =; losz (64).

,19. Xiad the stope ofthe tangeat to the curv e y=* +:l}j'+26 at (_i,4).

1

20. Evatuate J 3t2 dt
2

2L Find the marginal revenue given the supply functioo f = j O n OO.

"3 \'z
(9x1=9weiChtage)

Utrit m
Ansuer dtu! ive qupstiotas,

22. FiDd tlrc equation of a liDe pa€sing through (_2, 6) anrt parallel to ! = g, + 7.

23. Solve by completing the square B* +24x+BO=0.

24. Graph the functi on f (xr=] -6x +g. Also identiry vertex and axis.
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25. Find the break-even for a frrm operating on monopolistic competition given that revenue i8

R =72 x - 4x2 and total cost i8 TC = 165 +180.

26. Giveu the average cost tunction AC = 2e, - be + Z + t. 
Find the narginal cost.

27, How Iing it will take to treble at 10% int€rest compounded quatterly ?

28. Use implicits differentiation to 6nd # if 12 + y2 = 4.

(5x2=l0veishtace)

Unit Iv
Answer an! awo questions-

d"r 10ra
29. (a) Find -: eiven Y = -t--:-...--'

cu - .f-+6f,+zi)

... -..*, .622 -(b) Find # and 

"z 
when z - ol y3.

30. Fintl the level ofoutput at which the profit n is maximum wheu total levenue is R = 1400 Q -2 Q'z

andtotal costis C = Q3 - 2 Q2+ 200 Q+ 800.

31. (a) Evaluat€ [ s x2 <xa +n5 dr.

(b) Find the effective rate of interest for P = Rs. 600 at 12% when compounded quartedy.

(2 x 4 = 8 woightage)


